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ach group.
ach question carries 2 Marks.

Group-A ;
at are some other ways in which human action contributes to global
warming?

. Read the below paragraph and comment on it?

Students in Himachal Pradesh come to school enthusmstlcally An
- overwhelming proportion of students enjoyed their schooling experience:
- “The teacher loves us and teaches us well”, said Neha, enrolled in Class 4
ina village in Chamba. Children had dreams of studying till higher classes
and aspirations to be policemen, scientists and teachers. The attendance
~ rate was very high in primary classes, and also among older children.
| 'The norm in Himachal Pradesh has come to be at least 10 years
of schooling for children.
epare a pamplet giving instructions to improve literacy-rate mAP _
king the Himachal pradesh as a model in the improvement of literacy?
h of these data are for nslng and settmg times far- th




- SECTION - III (Marks : 16)
r any FOUR of the following questions choosing atleast
) from each group. =
Juestion carries 4 Marks
Group - A
k the classification of economic activities into primary,
services sectors is useful? Explain How?’
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al in mnll extent
¥ the agricultural sector is still in Major employment sector
ow would it help if there was a government river basin authomv for
overall planning of water use?

Group - B
Make a list of various reasons for the partition of the country?
Read the following paragraph.

: Fmall\' less than six months after Independence, the Father
of the Nation fell to three bullets while going out for his all-religion
in the evenings of 30 January, 1948. As desired by him, before
hi reportedly said, “Hey, Ram.’ His assassin, Nathuram
¢ ofenme and was later apprehended utBombqy



Questions :-

A) When was the R
social
workers party foundutlon-_

B) What was the main
incident that took place’x :
between 1918AD to 1920 3
AD inRussia? :

C) What is the main aim of
comintern?




\Ct as abarriers protecting the great plains of India from the cold
ds of central Asia during severe winter.

' B) Gave us summer rains and monsoon type of climate

'C) Are the sources for the perennial rivers.

b)All the above.

India’s rank in human development Index as per human development
report 2013 is -( 40
; B) 136 - )92 D) 149

Choose the correct one T

A) countries with per capita Income of US $12.,600 and above per _ T

nm are ca.lled nch countries.
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Nazism was bornin ' Pl
) Italy B)Germany . C)France D) Japan
. The Architect of “League of Nations™ &
~ A)Hitler " B) Mussolini "
‘C) Stalin D) Woodro wilson ;

Fill in the blanks.
The Standard Meridian of India
The Schooling revolution is in the state

Mines belongs to sector.
‘The important aspects of climate like temperature and rainfall can be

&!mwn through
T aspltallon + surface water flow + ground water flows =

h the following. _
Group-B .
) ° A)Divide and Rule

B) Sun- yat-sen




